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HYWE Problermn 10.2.4(a)
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HW6 Problem 10.3.3(a)
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HW®6 Problem 10.3.3(b)

S ” ” ” ” ” ”
S| I I I I I I
N | | I I I I
[Ny | | | | | |
I | I I I I I
| | I I I I I
I N I I I I I
I N I I I I I
I Lo I | I I |
I | N | I | |
I | AN | | I I
| | I\ | | | |
I I N I I I I
I I I N I I I I
I I I S I I I
I I I AN I I I
I I I N\ I I I
I I I I I I I
\\\\\\ e e e e A I
I I I I / I I I
I I I I I I
I I I I I I I
I I I I [N I I
I I I I I \ I I
I I I I I N I
I I I I I \ | I
| | | | | AN |
\\\\\\ i i
| | | | | N |
I I I I I ,// I
I I I I I I I
I I I I I I \ I
I I I I I I I
I I I I I I \,
I I I I I I /f
I I I I I I
I I I | I I I
\\\\\\ e e e et B Ny
| | | | | | RN
I I I I I I o
I I I I I I N
I I I I I I I
I I I I I I I
I I I I I I I L
I I I I I I I
I I I I I I I /
\\\\\\ R e e B s T e
I I I I I I I
I I I I I I I
I I I I I I I
I I I I I I I
I I I I I I I
I I I I I I I
I I I I I I I
I I I I I I I
| | | | | | |
© < Al ~— @ © <t [aY]
e e e o Q Q < <
o o o o o o o
Jo3

0.3

0.2

0.1

ka



n. : PN
10 /O 43 oo tz, Qir L, K= - = 200(27) - 2. 669’— rﬁd/m
Specfic Gloystic 'frnpedanc.e L0006 2000 R S

(O\) From /;J,w (/0i42)

Zm_ _ 11 (o/a)el®
fcS [ — (B/A)el
yan _Zre | _@J-’E’ _ + (B0 S5O
.pa’c—s': ("):-63- B/A)\_ — J ( /@J@
_ Il _
(e’ = _ft |
,/_ml
B T
- SO0D — 26
\ R T L P TS
1600 =200 | (4157 52000
_dis
(B//:}] = {5 Iy «fzc)ua*" = 03506
V /4354 2000%
From Egn. (1944)
I N O - a0 (3506
Sop = EL o 1 AYA e
KT e / B/n -0 §506 223

(b) (p/pyeie= (52C 32000) (JILIT 452000 )
(1415 ~51000 )(JH1S 152000

@ = Tan é"?f = /4/52000 | = 0 i
s < =495 ,or —0.33/2
(535'/4/5'%2@@&) $.95° or -0.33/21d
Egﬂ T’ap U‘[L P.?/?/)

K(L-%n) & =(n-D)T

L~ = Cﬂ'i)f@_ﬁg/z




L= (12)T=03325 _ 43836 m
3.444

| Ny = G-+)r 033022 - J- 2405 m
3464




/045 2,00/-/2_’ air, SWR:—/O, L-H = Corm
k= % = 200027 = 3,644 red/m
5 243
;rm-v Egn f/Or#-ﬂ)
B= 2 (L-X) 7~
= 2 [344)(05) ~T = 0.£22Y

Froom Fgn. ((8.4.5)

B - SwR-L - 9
A SwP 41 7
Fron Egn (10.4.2)
Im — Lt (B/4) eJ
RS |~ (3/me’®
_ ] +ﬁneJ0 sus
[ — _‘37;;70.5114
= Qo 1T AN s (1,315 4] 3.241)
S | - e_lO 5224

Il

545 90 +J [348.30  Fa-s/m




